Seat No.

Subject Code: C325003

Gujarat Technological University

Diploma Engineering C to D Bridge Course Examination

Subject Name: Advanced Building Material

Time: 10:30 AM TO 12:00 PM

Instructions:

No.

1.

2
3.
4.
5

Attempt all questions.
Make suitable assumption wherever necessary.
Each question is of 1 mark.

Use of SIMPLE CALCULATOR is permissible. (Scientific/Higher Version not allowed)
. English version is authentic.

Question Text and Option. U3 A [@Ascdl.

White lead or Red lead in an oil borne paint is

A. A colouring pigment B. A solvent

C. A base D. A drier

s WUBA US2HL AUl AFE AS AU AUA AS U B

A, As sclol Yole B. s Aade
C. Us AR D. s SRR
What tint of colour is prepared from the pigment Carmine?
A. Red B. Blue

C. Brown D. Green
stHiget o Ul scrall sl 2le wa 8?2

A dld B. alesl

C. GlGe D. dA

From which type of trees is Turpentine obtained?

A. Mango trees B. Banyan trees
C. Fir trees D. Pine trees
sl YsRell 315 Hidl eUatelget 1A 8?

A, AL ol ABLS B. dOlall BLS
c. AUls ol BLs D. Udel oll RS

Which pigment does Anti-corrosive paint contain?

A.  Chromium oxide B. Red lead

C. Zinc chrome D. All of the above
AW3-sRR{la Ude Hi s Ylote sl ©7?

A sl{la s B. dldas

c. s s\ D. GUR alsl olul

Enrolment No.:

Date: 30 -05 -2015

Total Marks: 70

Which paint is prepared from nitro-cotton, celluloid sheets or photographic films?
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10.

0.

A. Cement paint B. Cellulose paint

C. Emulsion paint D. Oil paint

L8l sleot, ARASS e Al sl2loulzs sla Hiedl 52 Ue cal B?
A dlHe Use B. QXA UBe

C. ®HAA U D. B UBe

How much time does Emulsion paint take to dry when applied on a surface?

A. 2.51to 3 hrs B. 1.5 to 2 hrs

C. 0.5to thr D. 3.5to 4 hrs

5l8 AFU UR AOUSAUL GlLE BHA US2 ol Yslcl sl AHA Al & ?

A, U el 3 seals B. .Ul 2 scas

c. o dl q sceus D. 3.4l ¥ scals

What is the defect in painting caused by water vapour trapped behind the painted
surface called?

A. Blistering B. Bloom

C. Flashing D.  Wrinkling

Ude caudal wsgoll won cdlzr Aur s walldl adl Udlot ol slisea 9
soaA?

A, ocllzeRal B. o

c. sl D. dlscllol
Which of the following is not used as a flooring material?
A. Marble B. Granite

C. Chalk D. Sand stone
o(lAUIl 523 sAIoL WUt 3% atell auld?

A, wda B. Jollye

c. s D. s wlet

The most commonly used tiles for flooring are

A. Vitrified tiles B. PVC tiles

C. Cork tiles D. Rubber tiles
AHLA UBL SR A auR duldl 2 elsct B
A, di2lsss asc B. UldlAl etsct
c. 85 et D. R0 2B

Which type of flooring is strip flooring or block flooring?
A. Tiled flooring B.  Stone flooring
C. Ceramic flooring D. Wood flooring

U sARoL waal scdlls SARL saAL YSIR of SARDL B?

2/14



11.

Q.

12.

.

13.

3.

14.

Y.

15.

A, alses sAlRlL
c. HkRB@s scadlal

B.
D.

ot ALl
AlsSL of sARLaL

The main aggregate used in Terrazzo flooring is

A. Sand stone

C. Limestone

2AHL aylg Hua A[Ae U B
A, As Rl

C. CUBH Rlal

Which of the following statements is false?

A. Terrazzo provides a seamless
surface

C. Terrazzo is used only for
residences

o(lA uiell 53 clsa Wig B?

A, 2Rl As UcUYs AFU
AU B

C. 2ol g5c UMl AylA &

B.
D.

B.
D.

B.

o

Which of the following statements is true?

A.  Only murals of outdoor scenes

can be printed on wallpapers

C. Wallpapers can be applied by
glue or paste

o(lA uiell 53 clsa R B?

A AAQUAH g5t welRall
g2lloll 1JRE YUY A

C. AAIUY $5c o€ WUl
Wl conata &

Carpet flooring is used in

A. Hotels

C. Malls

side sARoL ML ayld &

A.  &led

Cc. H&y

B.

B.
D.

Marble

Granite

Hlold
Jollese

Terrazzo contains various types of
aggregates

Terrazzo gives design flexibility

202 Hi (AlAu ysi? ot Wafldleu
ala B

ARl sl sAsflellclldl na
R

Wallpapers are difficult to maintain

One roll of wallpaper covers 90

square feet

AAQUAR tscall olg HYL B

As QAAUAURA A ¢0 ARY $le
scR s3L A% ®

Factories

Industries

¥s23l
Bsul

Which of the following is not a natural flooring material?
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.

16.

6.

17.

9.

18.

.

19.

20.

R0.

A.
C.

Marble

Granite

B.
D.

Tiles

Kota

o(lA Hiell 53 gecdl sAoL Ul otell?

A.
C.
Earthenware, stoneware, terracotta and porcelain are examples of
A.
C.

Hlold
Asllese

Wall finishes

Types of false ceilings

B.
D.

B.
D.

2lsc
slel

Ferrous metals

Clay products

AR, RAAR, 2152l AA WRA A Aol ELVCEL B

A.
C.
The word ‘Terracotta’ means
A.
C.
2RAslel 2Ase ol Hddol uL B
A.
C.

At $lo(lellat
sled AlAlot ol ust?

13 cots

Baked fibre

93 UL
0SS SLBuR

B.
D.

B.
D.

52U At
sA ol ueLd

Baked earth

Cooled earth

Ass HIEL
565 U2l

Which of the following is not a market form of Aluminium?

A.
C.

Coil based
Sheet based

B.
D.

Foil based

Casting based

o(lAuil 53 ARMARAUH ol 1Se ol YsiR otell?

A.
C.

SlEA ARBS
le Alss

B.
D.

Aluminium is used in the manufacture of

A.
C.

Blue-coloured alloys

German silver

B.
D.

ARAAUH L Glolleal HIE Ayl &

A.
C.

aleSl sEARAL AUB
ol AlcaR

B.
D.

S8 A%
512101 QL3S

Cementing materials

Electrical conductors

Aot HE Rl
sAsAlsct sssed

Which of the following is not an alloy of aluminium?

A.  Aldural B.
C. Brass D.
o(lAuiel 53 NRMAAMH ol AA2A o12ll?
A, BUESYRA B.
C. uld D.

Y-alloy

Duralumin

cllA-A AU
greylot
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21.

1.

22.

2.

23.

3.

24.

RY¥.

25.

QU.

26.

RS.

The most commonly used material as a vehicle is

A. Poppy oll B.  Tung oil

C. Nut all D. Linseed oil
AU B Well ay Adlse dl3 aulq HARAA wL B
A, WUl A8c B. 2oL Asc

C. o2 wWse D. s A8t

The substances that accelerate the process of drying are called

A. Vehicles B. Solvents

C. Driers D. Bases

% Ueld Yslealoll slatal Bsua B dal ul el &

A, aAglscd B. Aeda

c. sl D. Qfla

The inert fillers weight should not exceed

A. 1/4" the weight of base B. 1/3" the weight of base
C. 1/5" the weight of base D. 1/2 the weight of base
81 Sl of dogel Blaltedl auR il 86 A

A.  Odell Aol 1/4" B. Qdell dootof 1/3"

C. Qi A%oiof 1/5" D. Qdell d%oto] 1/2
Which pigment is used to prepare blue colour in paints?

A.  Zinc chrome B. Raw umber

C. Indigo D. Graphite

WeAHL alesl 9L olotleall M2 53 o ayla 8?

A, s sl B. 2 wWR

c. 83l D. Jsee

Which paint is visible in darkness?

A. Cement paint B.  Aluminium paint
C. Cellulose paint D. Enamel paint

sl L WURHL EWIA B?

A flde wde B. AM[Auu Use
C. ARA Ude D. &aHd Ude
Which of these is not a cause for failure of paints?

A. Suitable surfaces B. Bad workmanship
C. Moisture D. Salts and alkalis
olAniel 53 YUl Qrgncle] stwL o1ell?

A s AEA B. wRlol sta(l3l

5/14



27.

0.

28.

RC.

29.

RC.

30.

30.

31.

C. Q% D. WR A &R

Which oil is used to prepare paints of superior quality?

A. Linseed oil B. Poppy oil
C. Nut ol D. Tung oail
AR sallcAlEloll 00 tlolleal HIZ 53 Ad dylA B?
A, Rls Qo B. WUl aad
C. o2 add D. 2ol ad

The full form of POP is

A. Plaster of Paris B. Plaster of Portland

C. Neither A, Bor D D. Plaster of Persia

YRAUL ol 2l YsiR L 8

A, wieR ulg A3l

C. A Budal D HilAs uel  D. e wly ullau
(3

Which of the following statements is false?

AReR wlg Weds

o

A. Fibre board ceilings have high B.  Fibre board ceilings are made with

insulation against sound and fibre
fire
C. Preservatives are added to D. Fibre board ceilings can be
fibre board ceilings to decrease decorated with paint
their life

o(lA Hiell 53 clsa Vg B?
A, sBoR ollS Ao Hi way B, seor oll§ flcllon stsok ol ea

WA UL AR dY BYAUs R
aa d
C. soR ol flcAloxt ui D. st8oR oll§ Ylcllon Useell Yol
Ylosradler GRRauedl Aqf UL A B
®clal U &
Perforated gypsum plaster board ceilings are not used in
A.  Showrooms B. Hospitals
C. Auditoriums D. Multiplexes
Bacts B el S Al 2uHl ool aytcl
A A B. &ldlecy
c. Aslaldlay D. HchA@u

The full form of Gl is
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31.

32.

3R.

33.

33.

34.

3%.

35.

34.

36.

A. Galvanised item B. Galvanised iron

C. Geometric lode D. Globe iron

WU ol WL YsIR 2L B

A, JcAollsds ulBeH B. JlcAsllens (el
C. »AARs s D. oclod Lol

Clay is a product of chemical weathering of

A.  Metamorphic rocks B. Sedimentary rocks

C. Igneous rocks D. None of the above

sA wlell AW2Rs Uls2ul of Geuleat B

A, Retdlss Asu B. Asledl Asu

C. 8ale{lu A5 D. GuniYl As uwl o3

The mixture used to prepare stoneware products is

A. Burnt at high temperatures and B. Burnt at low temperatures and slowly

slowly cooled down cooled down
C. Burnt at moderate D. Burnt at low temperatures and
temperatures and quickly quickly cooled down

cooled down
RlotdR Ylssad tlolleall Hi oll {3l ol
A, dy diudledi oislal dlRel B AL dludistil cuslal LRl &g

g WSCLHl AA & ylsalMl w1 8
C. HtaAM dlUuMleiMi ouslal D. AL dAlUHletHl clslal celel g
ogcelel ey usalHi wa B UlSalHl 21a B

The main component of Ferrous metals is

A. Copper B. Carbon
C. Gold D. Iron
$ tlcflle] Yyt Ueld ul &

A SlWR B. slolat
C. g D. sl
The melting point of mild steel is about

A. 140°C B. 1400°C
C. 400°C D. 1000°C
HBES WA of AL Wde Wl w2 B

A.  1¥0°C B. 1¥00°C
C. ¥00°C D. 1000°C

Aluminium, copper, zinc and lead are examples of
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36.

37.

39.

38.

3¢.

39.

3¢.

40.

¥O0.

41.

¥,

A. Ferrous metals B.

C. Non-ferrous metals D.

Clay products

Cement products

AHlollan, sluR, Als wal AS ol EHUAL B

A, ¥y Hecd B.
C. ollol-52 Aecd D.

The boiling point of Aluminium is

A.  2056°C B.
C. 2856°C D.
AHlo{lauadl caclol Wde wedl B
A.  R0US°C B.
C. R¢us°C D.

Terracotta is an example of

A. Ferrous metal

C. Non-ferrous metal D.
eRislel uall elvcll B

A YU Hecd

C. ollol-3™ Necy D.
Pot tiles are also known as

A. Locking tiles B.
C. Mangalore tiles D.
Ul a2t ul ottiedl vet el st 8
A, AslaL alsed B.
C. HodR 2l D.

Mangalore tiles are mainly used for

A. Flooring

C. Roofing D.
HOALR 2LBEL Hlgl GOl AHL Ayl &
A, sARlL B.
c. 3sloL D.

Red lead is used as a
A. Vehicle and solvent B.

C. Carrier and colouring pigment  D.

25 As wl A aula ®
A, AdlsA ual Acde
C. 33aAR Aua sl Yode D.

@

sA Wlsseu
e lsseu

256°C
1056°C

_RUS°C
Qous°C

Stoneware product

Earthenware product

RloAdR Ulsse
AR ULSS2

Flat tiles

Guna tiles

SA2 2lBc
oJell 2B

Wall cladding

Wall panelling

A sAslat
AA AL

Base and drier

None of the above

A3 Wal SLAR
GURHIl As Ul o3
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42.

¥R.

43.

¥3.

44.

Y.

45.

¥,

46.

¥S.

47.

¥O.

Which of the following base possess intense opacity?

A. Titanium white B. Zinc oxide

C. Lithophone D. Tung ail

ol Al sl ARHL i AR AWA{EL sl B?

A, aseollan calse B. ofls Asues
c. dlaslat D. 29 ABe
Antimony white is nearly similar to

A. Zinc white B. White lead

C. Red lead D. Titanium white
WMol calese ALl Alall B B

A, Als cslee B. cslge As

C. W AS D. alseo{lad cslse
Linseed oil is extracted from

A. Flax seeds B. Nuts

C. Poppy seeds D. Sesame seeds
Alls 8 MLl vt aa B

A st ol ofley B. olad

c. WUl elt oflw D. dd ot ofl

What are the liquid substances which hold the ingredients of paint in liquid

suspension called?

A. Bases B. Vehicles

C. Solvent D.  Drier

Al Yyatgl Ueld & Uzl Ssleizua A Ul AW, Al 9 Secu2u?
A QA B. Aglscd

Cc. Uade D. SR

Which base changes colour when exposed to daylight?

A. Red lead B. Zinc oxide

C. Lithophone D. White lead
sl Aol 5AR (& ol AvAUOHL el HEALRL B?
A. R AS B. s ulsues
c. dlaslet D. cslge As
The most widely used base is

A. lron oxide B. Zinc oxide

C. White lead D.  Sulphur oxide

AWell culR culAl A3 3L B

9/14



48.

¥C.

49.

¥C.

50.

vo.

51.

ua.

52.

UR.

53.

A, Rl ASAULBS
C. cslge As

B.
D.

As A|SAUES
AAS WUSULSS

By which method can Strip flooring be done?

A. Tongue and groove

C. Neither Aor B

U sARaL 58 uglddll s &2
A. 29l el Yl

C. Augdl B As ugl i@

B.
D.

B.
D.

Nailed to the sub-floor

Both A and B

AoL-SARHL wleett HIRlA
A Ul B ola

Which of the following is not a type of hard flooring?

A. Carpets

C. Wood .
o{lAHiell s20 &l sclZlolL oll s otell?
A, stded

C. Cls$

Stucco plaster is used for

A. External surfaces only

C. Internal surfaces only
RS l™2R AUHL Ayl B
A wcl ol8LRall GULONHI

C. el AoERell GalH
Concrete tiles are made of

A. Wood, cement and water
C. Sand, cement and lime
slsle a2l uletledll ool &
A Alsg, dlHe wal uell
C. <, flHe ua cugn
Glazed tiles are generally used in
A. Bedrooms

C. Toilets

B.

D

B.
D.

B.
D.

AANS 28 Hlgl Ol MHL cyld &

A, Asard
C. dsazd

B.
D.

Stone

Tiles

YR
el

Both external and internal surfaces

Only over wooden surfaces

MR SRl WA o€ el MLOUHL
WAl AssL uR

Sand, wood and water

Sand, cement and water

2, csg aal well
2dl, e wa wall

Halls

None of the above

et
GURHIl As Ul o3

The thickness of cement mortar plaster is about

A. 10-15 mm
C. 55-60 mm

B.
D.

20-25 mm
35-40 mm
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u3.

54.

uy.

55.

wy.

56.

us.

57.

9.

58.

uc.

{lHe 1elR vl &1s1e Aol wlell B2l 8l &

A, 10-u H{lHl B. 0-u

c. uu-so {ll D. 3u-¥o H{ll
Which type of ceiling allows maximum daylight penetration?

A. Glass roof tile B. PVC sheets

C. Fibre glass D. Thermocole sheets
sl UsiRoy Alclol mellsdm woscally leall & 872

A. O 2§ 2B B. Ul 2llaut

C. SIBuR XA D. aulsla el

False ceilings provide sound insulation; false ceiling hide ugly trusses

A. Part one is false and part two  B. Part one is true and part two is false
is true

C. Both parts are false D. Both parts are true

sled Alcllol uaereg syAat AU 8; slet Aot atel gual Acd B

A. A&l aol W2l At ol eol B, Vgl el AR sl oflesl ewot
AR w2l

C. olR el Wigl D. GlRl GUOL AR

Hardwood ceilings are created with

A.  Strips of plywood B. A and C both

C. Strips of solid wood panels D. Neither A and C

elSgs slellon vetlell ol B

A wlagsel uguiell A al C o]

C. AleAs csslell Vacudl D. A ua C Hidl As uel o3

The sizes of A.C. sheet is usually

o

A. 4 feet X 2 feet B. A and C both

C. 4 feet X 4 feet D. Neither A and C
AL elled ol WU weA s &

A ¥ sle xR sgle B. A3 Cua

c. ¥sglexysle D. A ua C Hidl As ul «1(d
Which is the cheapest available material for false ceilings?

A. PVC B.  Thermocole sheets
C. Plywood D. Glass

Well urd Hsq 8l A sl Alellor 1A A 53 ©?

A Ul B. alslat elley

C. wlagsd D. sl
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59.

60.

SO.

61.

Sq.

62.

SR.

63.

S3.

64.

S¥.

The standard size of gypsum plaster board sheet is

A. 100 mm X 100 mm B. 550 mm X 550 mm

C. 1000 mm X 1000 mm D. 600 mm X 600 mm
[ wdRe00S Ale ol RS MU wWL B

A. 00 Hl{l x 100 {1l B. wuo H{l{l x uuo

c. 1000 Hl{l x 1000 H{lHl D. so0 Hl{l x soo {lHl

The full form of A.C. sheet in ceilings is

A. Asbestos cement B.  Air conditioning
C. Alternating current D. Acrylic cement
Al AL 2lleal 2usul UsiR w B

A AU Ak B. AR $lae{loL

c. dleeadlol s2e D. AslAs ANe
False ceilings reduce the

A. Area of a room B. Length of a room
C. Volume of a room D.  Width of a room
glet Allcllonell 2 w2 B

A. el &dsn B. 3Ho(l cliol®

C. 34 ol dlcyu D. 3Holl uslsty

G | sheet roofing material is not used for

A.  Industries B.  Factories

C. Farm houses D. Corporate offices
%8 2lle (5oL Ml otell auldl

A B85l B. %523l

c. s alBAlu D. sluRe A (3
Acrylic sheet roofing is used because of its

A. Light weight B. Heavy weight

C. Expensive cost D. Weak quality
ABAs 2le 5001 v st ot Al aya

A &C5 coel B. a3l aoet

c. Ml slud D. otusl sauclldl
The tint of oxide of iron varies from

A. Black to greenish blue B.  Yellowish brown to black
C. Reddish maroon to black D.  Bluish purple to violet

UlAol ol AWSABS of le ol Yool el B

A stow dl dlal-aesl B. lowal usdl olGet ol st
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65.

SU.

66.

SS.

67.

SV.

68.

SC.

69.

C.

Alclal Het &l sto D.

Lithophone is a mixture of

A.
C.

Zinc sulphide and barytes B.

Iron oxide and barytes D.

Al Slot ile] BlaAuR B

A s UCKLBS A ARBU

C. VAol SUBS Aol ARB2U  D.
White lead is a of lead

A. Chloride

C. Hydroxide D.
ase as, As R

A.  SARLSS B.
C. &lAJSUS D.

Which of the following statements is true?

A.

C.

An ideal paint should possess  B.
good spreading power
An ideal paint is very D.

expensive

o{lAotl Hiell 53 cllst U] B?

A.

Which type of varnish is the French polish?
A.
C.

As el UHe ARl A B.
YAl 23 Adl waR &lall
SHGEN

As wled Ude wg Hldl 82l D.
)

Oil varnish B.

Water varnish D.

A WA sl UsIR of cloflel 82

A.
C.

B clefla B.
e cate{lat D.

alesl wdet Ul aide

Zinc oxide and carbonate

Iron sulphide and carbonate

Als sULBS wal slollae
Yol UCHLBS Wal slellale

Sulphide

Carbonate

UCHLBS
stollale

An ideal paint is affected by
weathering effects

An ideal paint takes dries rapidly
As WEA U2 UR scllHlat ofl
WA UL B

As wled UBe wcel Ysia B
Turpentine varnish

Spirit varnish

eetesetcliollat
AReae{lal

What is used as a solvent in preparing oil varnishes?

A.
C.

Wood naphtha B.

Linseed oil D.

Spirit of wine

All of the above

AUBA clo(lal clotlealtHl Nede 3% 9 cula B2

A.

gs ellgal B.

algset ol 2U3le
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70.

90.

c. clMls 08 D. GURell ¢l

In which ingredient of a varnish are litharge and lead acetate used?

A. Resin B. Drier

C. Solvent D. None of the above
cllo(latetl saul uesHl cllaws wa As ARe ayia 82

A, 2Rt B. SR

c. Hede D. GuHiYl As uwl o3

%k 3k 3k 3k K 3k k k k %k K k *k k
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